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Chapter - Squares & Square 109t
L Simplity:
i35 b6 770 ¢ o0 RED

2. Find the smaliest number by which 588 must be multiplied s0
perfect square.

that t becomes &

o that it becomes @ pertec
3 Find the smallest number by which 396 must be dvided 5o that
square.
Factorization Method
4. Find the square roat of the following by Prime Factorzat

21024 b, 15625
5. Find the square root of 0.0064

Find the vae of xif [FETE

to two places of decim:

8 Find the square root of 25 correct
9. Find the least number of 4 digit perfect square
+ be subtracted from 18265 o make it a7
Jat number which 1
find the square root of t ver 50 obtained
f 50 g
Scm. Find ¢ e a

50 find the squas

area of

b, has its perimeter equal t

gular filed.
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B
CAx? -y zy 1

o Evallate &) (Vix + vy =5)°
B) (77 Ay} = (Tx =5y +3)

10.25(3x + )
1t
12 Factorise (1213

7, fnd x* —

663y +9y7)

13 Factorise p* = 55

14, Lyaiuate (a ~ 26)(a + 2b)(a + 4V’

15 Factorise 3 + %+

Find the voiue of =%

17, {2 = ax +36= (X A)lx = 9)uthe

73 4 12.find

20 tvaluate
21, the expression 2

value of X

hen find the value of X

2

40(3x+y)(x — 2) + 160

45y —4 + 565+ 43

225

x = 290

i+ 160%)

i the value of @

the value of
with afgebraic identites.

0% will be a perfect square, then find the
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Assignment Sheet [ std. - Vil )
Subject - Mathematics.

Chapter— profit, Loss and discount
ind s
© By selling a mobile phone for . 6800,the shopkeeper loses 15 %1
ain or loss percent i he sels it for Rs. 7200,
setiing price of 8

2 By selling 42 oranges, 3 person loses @ sum equal to the
oranges. Find his loss percent,

3 Analmirah of marked price Rs.4000 s sold for Rs, 3700 after 3 certalr
discount. Find the rate of discount.

fos for Rs-100 find his 105

s Bartic

4 Aman buys 10 articles for Rs120 and
or gain percent

9 s Find his
5 The cost price of § articles is equal to the sefling price of 6 articies F

loss or gain percent

Find his
6 The cost price of 18 chairs 10 the selling pric
loss or gain percent
7. By selling 288 hens, Rar a sum equal to the selling price of 12 hens
Find hi
5 Ashopk discount on the marked eesand
still makes a If he gain: he ne sare
<old it for Rs,36.75 less he would have gain 30%.Find the cost price of the
article.
10. Ravi bou g L
i.pair of Rs,700,VAT @5
{i Television costing Rs. 10900 VAT@10"
»
fothes of Rs.800,VAT@8%
jii.Clothes of Rs.800, o

Calculate the total amount of the bill.




bought two pairs of jears for Rs 725 each. shes0ld

3in of 8% and other at a loss of 4%, Immnu\o{wulnlh""w‘
transaction.

14, Rohit marks his goods at 40% above the cost price U atiows a discaunt of
5% for cash payment to his customers. What actual profit does he make it
e receives Rs 1064 after allowing the discount?

B e v o s 21609 s e an 32 72 of 15%
he whole.

and other at a loss of 9% he neither gains nor loses n ¢

transaction. Find the cost price of each fan.
16, A tricycl s soid 3t 3 gain of 16%. Had it been sold for Rs, 100 more: the.
gain would have been 20%. Find the C.P;of the ticyele
.. of 5210000 at a discount of S%. f VAT
the

17. Shiksha purchases a car with 3
s charged at a rate of 10%,find the amount she has 10 P2¥ to purchase

car.
18, A toy was sold at a gain of 12%. Had it been sold fat Rs. 33 X the gain
would have been 14% . Find the cost price of the toy.

1. Ram goes to a shop and buys
12 pairs of shoes for Rs.500 each, VAT @ 57

ji.1tea set foe Rs.700VAT@ 7'

it 25hirts for Rs.500 each , VAT@ 8%

Calculate total amount to be paid
40, The difference between two selling prices of 3 shirt 3t profits of 4% and

is Rs. 6. Find:

i.C.P, of the shirt

i two selling prices o' the shirt
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Subject - M thematies
Chapter - peatel Lings
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